Chapter. 7

QM in 3-dims & Hydrogen Atom

Outline:

* The Schrddinger Eq. in 3-Dimensions

Lecture 18 « The 3D Infinite Well

* Energy Quantization & Spectral Lines in Hydrogen
» The Schrddinger Eq. for a Central Force

Oct. 24, 2024  Angular Behavior in a Central Force

* The Hydrogen Atom

 Radial Probability

» Hydrogen-like Atoms
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Chapter. 8
Spin & Atomic Physics

Outline:

* Evidence of Angular Momentum Quantization
Identical Particles

The Exclusion Principle

Multi-electron Atoms & the Periodic Table
Characteristic X-Rays

It’s open said that in Q.M. there’re only 3 bound-state problems
solvable (w/o numerical approximation tech.)
1. Infinite well, 2. Harmonic oscillation, 3. hydrogen atom

— all 1-particle problem.
Most real application: multiple system. so, let’s start an atom with
multiple electrons
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Quantum Theory Expectation

important factor governing the effect of B-
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The Solution:

INTRINSIC MAGNETIC
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Spin Orientation

2 possible spin states of an electron
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